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BNSTRUCTIONS TO CANDIDATES
1. Carcfully READ AND FOLLOW THE INSTRUCTIONS contained : @QZ’@FT a
bookiet(s) you have been provided with.

2  Apswer ALL the Questions in Section A and Any Two Questions in Section B
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2 The demand and supply schedule for carrots in Kibuye market are given below. Us= the
information to answer the questions below:
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(i) What is the price elasticity of demand when prices change from Ksh 4000 w -
Gv)
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Ksh. 10,000 . (7 okn)
Interpret the coefficient calculated and explain whether the demand at this poi 1

considered to be elastic or inelastic. (1 mks}

(v)  State FOUR factors that would affect the supply of beans in Kibuye Market

(2 mks)
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IECTION B - ANSWER ANY TWO QUEST
3. The following table shows a production relationship between inpus (X and output
(Y).Use the information to answer the questions that follow.
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4. A firrn is faced with the fellowing schedule of output and associated cost of pmémmm '
OUTPUT  TOTAL COST %
1000
1500
3500
14500
6500
8500
;12000
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qake losses in the shart-run.
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